IKEEER B

IKPEMET 81

BFTHETA2BH 4R R M SR 27°C
Al H He 8 4
H# AR AE A ENEWNG-s i H LR
fif fa PN} ik fir | f& A fif &
w| o R A i Slow s
TN PN} ik mooW A
BT
B g
xR 5] HYHRE]
& i & i
S| @A E | BEke| B | SfE | PiE | RE | 5| &8 B | BEke | B BB PiE | RiE
1 BIES 1kg 1 |®ES 1keg
2 |E=Ef2 1kg 2 |EE Rl 426| 1kg 2,700 864
3 Kahvh kg 3 Kahvb 1kg
4 |SE =8 65| kg 713 540| 4 |=I1F 1kg
5 |&HL Ei-EW 106| 1kg 3,132 702| 5 |&HL Tkg
6 [LvL BE-FE 235 1kg 518 324] 6 |LvbL 1kg
7 |[$5HLD | =B 165| 1kg 1,458 972| 7 |FEHLH kg
SAE itigiE 16] 1kg 1,134 972| 8 |SAFE 1keg
9 [AY Ei gt 551| kg 3,132 9 [ 1kg
10 |&ZL All-BE] 46| ke 1,134 1,026 10 |=ZL 1kg
1 |D2E |Ere-ns 158| 1kg 896 529 11 |0 kg
12 |f=Ly == 423| kg 2,376 918| 12 |f=Ly kg
13 |[FFL FE-BH 478| kg 540 410| 13 |[FFH 1kg
14 |[hhiy 1kg 14 |Ahis Tkg
15 (OB 1kg 15 (U5 itigiE 20| 1kg 4,158 2,160
16 | AN Tkg 16 | AN Tkg
17 |A U B4 RYT 17|  1kg 3,056 17 |ZU 1kg
18 | PYLyA iz 44| kg 3,240 1,760] 18 [YL H kg
19 |1=2 dbiEE 22| kg 3,240 19 |f=C kg
20 | Tkg 20 |vE Tkg
21 |HEY 1kg 21 |BHEY kg
22 | RAHWP 158 22 |\ XRHYP | KB 105| 158 21,600 2,160
23 |BEHD |BH-mE 180 1k 2,592 2,160 23 |EEHP 1keg
24 | E B4 hE 370| 1kg 6,156 4,482| 24 |575F 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 | HES 1kg 26 |HFES 1kg
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1 |&aST Y7 -7Y 568| kg 2,376 1,134 1 |1+ i it 628| 1kg 1,728 1,188
2 |AhIz Y7 N by 181] 1kg 6,426 4,752 2 [EE IhT= R 456| 1kg 1,296 864
3 [BAY ny7-KE 693 kg 5,400 1,080) 3 |iExAFE | dbiEE 30| 1kg 1,436
4 [hFLDL|[B1R-F3 124| 1kg 1,426
5 |BHL RI& 220| 1#& 292 130
6 [BYDHA 250 100 1tke 2,160
1_|IhNEF Tkg




